Name A . /'/\ : Diff. Equations and Lin. Alg.
Math 3280, B. Peckham

Quiz 6, Fall 2020
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1. (3 pts) Determine whether 7 is a linear combination of #; and v, where w = {O] , U1 = {3] ,
4
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and 7 = |:g] . Justify fully starting from the system of equations you need to solve.
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2. Let § = { [_11 , i . Show directly from the definition of linearly independent and span ”

(not just computing a determinant) that

(a) (2pts) S is a linearly independent set -
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(b) (2pts) the span of S is all of R2.
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3. (3 pts) Find a basis for the set of solutions to the following vector equation. Hint: first write
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down the solution to this system and put in vector form. [1 2 3 0]
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4. 2ptsEC) Let W = {(a, be,c) eRYia+bte= 1}. Define a matrix A, and a vector b such
that W = {a’:’ ERN4: AT = l—)} Is W a subspace (of #%)? Justify briefly without doing a full
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